o] 3x+2y—5 o thote] 9] He=a, x A Al b, 4
cH W, a+b+c o @22

D -2 ® -1 ® 0 @ 1 B 2



2. ol x o Thgt AxHA o] 2x - 5 B WMok AL FE o]
5x =7 °] H ATk &A Axtet 227

@ x+3 @ 10x-12 ® 3x—2

@ —3x+2 G —x+5



© ax+b(a,b+=

Aolt.

&

7}1 9l ot

2~
T

ol %

g2

A

® #4571k 7




1

1
s







2~
s

o, x €] A

rohste

o



mjn

x 9] 2 Hjof 4

7.

Toa
20 20

@_7

@ -x+9

® -x+2

® -7x+41

1
x4
@ 10x+



x9] 2vjHT} 3

L
.

f(x)

8.

shi?

2f(4) = {f(=2) + f(A)} x 2

@ A+1 ® —24+3

D 2

B 24 -1

@ 4



2= x,y

, f(2a,b) E

N BN f(x3) = 5 AL HAL W, f(ab) = |

Tholat,



TR LF K
SHWNJ
O ol fx
< <F Mo
o ol ol
RO 20 4
o W T
T N
s *EF
o = o
w2
o %
iy
ﬂMMM_d
(ol
a._‘_ﬂuﬂu_nup
M~
O_E dl@l
au:Tq_olu]m
M_u._m_mﬂu
B X
{F Ry
5 E S A
m 3 < 4
N
Sogd
=0 mo TH foH
oo B H

S
—



